N = 0l &8 AF S H ANl A
2008 &= 20 A LB A
S EEE Y
B TOIMEIEE XA
chol:gi2iael (Se:a)
SN (BH) - MBEAY - BAS 0 Ak 2 %‘;f{;f; inE=Er
12,934,592 9,880,004 3,054,588
= 1,148,780
SHA A= rag 1,600,000
& 1,881,560
= 8,304,252
5,821,051 3,710,277 2,110,774
= 66,780
MNAMEIEE X4 g 1,600,000
< 1,714,060
= 2,440,211
172,663 53,380 119,283
R o= 6,000
™ 166,663
el &9 IR0 92,718 16,070 76,648
101 14| 10,808 0 10,808
10 JIZtHZ22ANHsEs 10,808 0 10,808
OREsE Y F=HA HA 10,808
—OoI£¢! 29,4303 * 29 * 150 8,829
—sd224 29,4303 * 29 x (7L 1,001
—AUEE= 9,830,000& * 0.0994 978
201 B2 AH| 7,220 3,320 3,900
01 AFR2t2ldl 7,220 3,320 3,900
Odet=gH| 1,940
—NeES & OSIEYE Jr3RI| AFHE
10,0002 = 304 300
—JeI&EoR)| A 2L
1,000& * 1,000H 1,000
—NHES &S MA HIFY
40,0008 * 168 640
Osgag 2,080
—NHES H ZAH AAMEE
70,000 = 4™ 280
—SEBHRARG HAAxY 1,800
IR 70,0003 * 9¥ = 23] 1,260
= 30,000& * 9H x 23] 540
Ol =H| 1,200
—Jel&3E JR)| 22372
300& = 1,000% x 43| 1,200
O x= 2,000
—SAMNEES Y & WRse Bt
OIS AN XL 400,000& = 23| 800
—J8l&EE ORI & NHE2S A g
S&H X 300,000& = 43| 1,200
202 (4| 6,090 7,200 A 1,110
01 22Ul 6,090 7,200 A1,110
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SRR
MOl MENSE TA
chol B 2o (Se:ad)
- _ o HEc -
SN FH . SA(3) - MBAY - B O &t 04 S sion HRE2
CDNA EE(ZIIR)
2203 * 45,00004 * 23] 19,800
CUB0D SXAH ZE(SI))
2,200& = 1,00000 = 123 2,200
SBEDMIIZ N 0,000 0000 °
< 6,000
6,000 6,000 0
307 QI2toI A
= 6,000
02 QItFAEX 6,000 6,000 0
O20083 #ZE2&I|IS X3S
6,000,000& 6,000
= 6,000
89,336 79,876 9,460
_ = 5,280
O S - A2 25
S 27,325
s 56,731
29,680 23,830 5,850
s - = 5,280
OFMSS TIGHHLAIL &X
= 11,000
= 13,400
202 (44l 2,400 2,400
01 =UWHbI 2,400 2,400
O=UWobl 200,000& * 6OHE * 29H 2,400
27,280 20,430 6,850
= 5,280
402 912X+ 0|
< 11,000
s 11,000
01 Ztit=Ex 27,280 20,430 6,850
OOMES Tsi0IgAL Sx X2
27,280, 0002 27,280
= 5,280
= 11,000
s 11,000
58,156 54,546 3,610
OMSSZ oIF SHES IR XA = 16,325
= 41,831
201 B2 Ad| 1,340 1,680 A 340
01 AtR2cldl 1,340 1,680 A 340
o2gay 1,340
~HER SXE2 IHXY 4o e
Ry 1,340,000& 1,340
202 (44| 2,400 2,400
01 =LHHI 2,400 2,400
O=UWobl 200,000& * 6& * 29 2,400
301 et2 a3 54,416 50,466 3,950




BB EE Y
HETOIMEIEE XA
SO = A2 B5 (B &a)
SN (BH) - MBEAY - BAS 0 Ak 2 i HRE2
301 LetEAZ = 16,325
- 38,091
12 JIEIE &S 54,416 50,466 3,950
OOMES =X2 D=y X
54,416,000& 54,416
T 16,325
= 38,091
OMMESZE g ¥ 2dygeX 1,500 1,500 0
301 dEt8B A= 500 500 0
12 JIEIE &3 500 500 0
LN D BEAZ 50,000& * 10 500
307 Q120 & 1,000 1,000 0
01 9=z¥3=H| 1,000 1,000 0
OO0rMZE 4 XIZ=H| 1,000,000 1,000
SI&A 23HA 114,850 74,637 40,213
SES3HEA 02t E 88,200 64,332 23,868
202 (4| 1,800 1,800 0
01 Z2UWodl 1,800 1,800 0
O2=3&Aa 24
150,000& * 2H » 6& 1,800
402 212t X201 ™ 86,400 62,532 23,868
02 QIZ2HCHEH A HI 86,400 62,532 23,868
O3S3&a 3AsdY
240,000& * 300HA * 12&8 86,400
SSSHEA X2l 12,900 6,305 6,595
201 B2 AH| 11,100 4,505 6,595
02 22294 11,100 4,505 6,595
OAI&Z&H| |Xb] 11,100
—3Est&EA X 2yl
200,000& * 330 6,600
—SESSEA TMHXA
1,500,000& * 3002 4,500
202 (44| 1,800 1,800
01 22Ul 1,800 1,800
O=2Wod| 150,000 * 2 » 6 1,800
Ols4al 20| &4 AX) 13,750 4,000 9,750
201 Let2AH| 3,750 0 3,750
01 AtR2t2ldl 3,750 0 3,750
Odxz 3,750
—SAMESS Yl 0lss&EA Xt
15002 * 250,000& 3,750
405 XHabE S B 10,000 4,000 6,000
01 AL 2BESFSHI 10,000 4,000 6,000




BB EE Y
MO T ME S EA
ol SR Al 25 ) (Se:ad)
SN (BH) - MBEAY - BAS 0 Ak 2 i HRE2
O0lsA! 21013t & A &R
5,000,000& = 24| 10,000
4,667,533 3,306,413 1,361,120
= 31,500
L BA2| ra 1,600,000
< 1,676,235
= 1,359,798
RE= 2 37,860 36,330 1,530
201 L8tE249H| 32,860 36,330 N3,470
01 AtR2t2lbl 32,860 36,330 N3,470
Ogt=ZH]| 32,860
—E= X2 i wH
46,000 * 800K * 23| 7,360
—QI=s E8 28 HZE 25,500
24 700& * 25,0000H 17,500
8& 200& * 40,0000H 8,000
401 Al&E2HIZL 20| 5,000 0 5,000
04 Al&H| 5,000 0 5,000
ORES MEHZ oL EX & AX|
52 = 1,000,000 5,000
SE= AlE=E 22| & bl 115,603 54,133 61,470
201 LBt 4AH| 6,603 6,133 470
02 2229l 6,603 6,133 470
O=2222 < HMAl 4,503
—2L=s MU 3 BE8g=
200,000& = 14 200
—RL=s MU Fo1EH AIAE AEE
143,000& = 1200 & 1,716
—ote] BE2F3EA M= 1,455
2= 5kw * 6,300& = 1201 & 378
AE= 89.7& * 1,000kw * 124 & 1,077
—RI=s MU &M= 1,132
== Bkw * 6,300& = 1201 & 378
ANES 89.7& * 700kw * 1200 & 754
OdzH| 1,200
—SE= MU 8| A=
1,250 4 * 1202 * 8AlZt 1,200
OAI & &H|I s Xl ] 900
—WF0l, I & &Hl X224l
400,000& 400
— A2 RX22l] 500, 000& 500
202 o4 4| 9,000 8,000 1,000
01 =Z2UWHbl 9,000 8,000 1,000
O=2ZUWo| 150,000& = 12JH& = HhH 9,000




S e )
M MR XA
Ce 2TL SFEaD (Se:ad)
SN (BH) - MBEAY - BAS 0 Ak 2 i HRE2
203 &R =& | 4,000 4,000
03 AHFAHIFZAYH| 4,000 4,000
I 2d GRFA 200,000& * 203 4,000
401 AlEHIZE204H] 96,000 40,000 56,000
04 Al&H| 96,000 40,000 56,000
OSE:s BEZ, MU, TAH INBL
40,000,000& 40,000
O0ISAl & AX 6,000,000 6,000
OSZs HOZ M L H3AY
50,000,000& = 14 50,000
17,070 15,950 1,120
SmL NoIFaMY 2A L HA < 8,535
= 8,535
17,070 15,950 1,120
101 1218 < 8,535
= 8,535
10 JIRAHM2ERSE S 17,070 15,950 1,120
OSES N2 2A L HA
17,070,000& 17,070
< 8,535
= 8,535
4,222,000 3,200,000 1,022,000
SELS M2 X4 2 160,000
= 1,631,000
= 991,000
4,222,000 3,200,000 1,022,000
401 Al&HI L2 2 1,600,000
o= 1,631,000
= 991,000
03 EXI0HYI 1,022,000 0 1,022,000
ORE=s MHIE =4 1,022,000,000& 1,022,000
= 511,000
= 511,000
04 Al&H| 2,996,000 3,086,000 A 90,000
ORELE MHZEE X4 2,996,000,000& 2,996,000
2 1,498,000
= 1,048,600
= 449,400
05 Zealdl 200,000 110,000 90,000
ORIEs MHER T4 200,000, 000& 200,000
g 100,000
= 70,000
= 30,000




SN EEE D
Mo MEEY A
celieus X (Se:a)
SN EH.S(3) - MEAY - BAS 0 Ak 2 i HRE2
06 AlZ=20Hd] 4,000 4,000 0
ORIEs MHER T4 4,000,000& 4,000
g 2,000
T 1,400
2 600
105,000 0 105,000
MSCres B2IHSE KD = 31,500
o= 36,700
= 36,800
105,000 0 105,000
301 YetE A= = 31,500
o= 36,700
- 36,800
12 JlEEAD 105,000 0 105,000
OSTS MSCIes el Ao
105,000, 000& 105,000
= 31,500
= 36,700
2 36,800
SE= FH =0 JJALY 100,000 0 100,000
401 N2 2HY 100,000 0 100,000
04 Al&H| 100,000 0 100,000
OMEIHEE 2AS B R
25,000,000 * 4CH 100,000
SES NAMEIE ZHAIE 70,000 0 70,000
401 Al &EHIZLE04H] 70,000 0 70,000
01 JI=EAE ] 70,000 0 70,000
OSTS NMEHE BIZs ZA & |2
Y 24 70,000,000& 70,000
478,469 7,201 471,268
oms MER 22l = 30,000
< 4,500
2 443,969
202,057 5,000 197,057
STL HESI| =AY = 30,000
= 4,500
= 167,557
201 LBt AH| 4,200 0 4,200
01 AtR2t2lbl 4,200 0 4,200
Osyag 4,200
—E =2 s
70,0002 * 158 * 43| 4,200
207 A4 | 30,000 0 30,000
NBEEEET 30,000 0 30,000




A D)
M MR XA
Co:2Es MENH o (Se:a)
SA - EM.O(E) - NBAY - B O At ot i HIRS 2
OSEEEZ)| SRAY JI=2HE 48
g 30,000,000 30,000
301 Yt A 5,000 5,000 0
07 Qlz2tol=2 04yl 5,000 5,000 0
OZ =232 e HEX st
2,500,000& = 294 5,000
307 2I2t0| & 120,000 120,000
02 QIZHEAEX 120,000 120,000
oWl = =9 CHRMEH M
100,000,0002! 100,000
0887 s - 2= 5% 20,000,000 20,000
42,857 0 42,857
401 AlEHI 22| = 30,000
= 4,500
= 8,357
02 & A& AHBI 10,000 0 10,000
ORI S AEE HE(LAANES)
10,000,000& 10,000
= 7,000
& 670
= 2,330
04 Al&H| 32,857 0 32,857
OMRI| 22 AES 2 (LAAEES)
32,857,000& 32,857
= 23,000
& 3,830
= 6,027
L= ME2 29 170,462 2,201 168,261
101 Q1A dl 21,421 0 21,421
10 JIZHHZ22NSES 21,421 0 21,421
OSTES MER JI2K 227 24 21,421
—JlE= 29,430& * 29 x 290! 17,070
—sdI22Y 29,4303 * 29 * 41 2,414
—40 BE& 19,484,000& = 0.0994 1,937
201 2Bre | 126,781 1,451 125,330
01 AtR2t2lbl 47,618 0 47,618
Oget+=gY| 29,668
—EIIOE (442
260,000& = 12& 3,120
-9 sz 130,000& * 43| 520
—£2) SXELs MUY
184,000& * 12& 2,208
— M A2 4,500 * 10 » 12& 540




ST
MBI oM e KA
Co2ES MENR ol (Se:ad)
SN EHY G (SH) - NBAY - BYS 01l &t o i Hl D=2
—MEZ EA Y I
100,000& = 12& 1,200
— AR 2B F P 500,000 500
—MEH 2 OHLH cl=E M&
2002 = 75,0000H 15,000
—8==2 M 100,000& * 103/ 1,000
— e 2 SHEA o F HHM 2
100,000& = 123 1,200
—H24% 50,0002 * 404Xt 2,000
—ME2 ARAEES FHIIFA =2
700,000& * 13 700
—SoZHIAIAE AIEZ
140,000& = 12& 1,680
Ozgsg 14,950
—d=AH| 14,950
2| 50,000& * 116 * 19H 5,800
=& H| 25,000& * 366 * 1H 9,150
o=l 3,000
—ME2 22X Y HESAML 282=
(3, &S,&%) 100,000& = 38 » 10 3,000
02 ==2<Hl 79,163 1,451 77,712
O3323 % HMA 67,208
—ME2 &2 54,972
ez 6,300& * 300kw * 12 22,680
INE=F= 89.7&  30,000kw » 12& 32,292
—0te Jt2s dMoIg 1,196
s 4,030& * 11kw = 128 532
MNEZ 55.30& * 1,000kw » 12 664
S e ASER
1,200& » 600E * 128 8,640
—SFNed FE= 200,000& = 23l 400
—ME2 I BEZ 2,000,000& = 14 2,000
Od=t| 5,000
—AEf2 22 e A=Y
1,250& * 4,000 ¢ 5,000
OAlE8 & HIs XYl 6,955
—MEf2HEY ¥ SelE Al 6,955
- Ot 1,500& * 3,303m" * 13 4,955
- =l 10,000& * 200m = 13 2,000
206 =4l 11,560 11,560
01 THZ= 4l 11,560 11,560
Ost=&Xt 7 500& * 48 = 1,000= 2,000




SRS
AAMEIStE =4
SHL MED Pl M)
SN (BH) - MBEAY - BAS At %*l‘;f{gf; 2t
Oaz02| gk #+¢
7003 * 1,000& = 12012 8,400
O&CI&e HE RYHIE =)
20,000& = 83 160
OxXYg & otdI| P¢ 1,000,000& * 13 1,000
401 Al &EHI L L0HH] 10,000 10,000
04 Al&H| 10,000 10,000
QAME2 2THAIE L AHEIE 10,000
—QUAH 200,000& = 25%t 5,000
— 2 2H 250,000& = 20 5,000
405 XHaHF S| 700 250
01 XA =SEFSHI 700 AB0
OMEf2 &CIZD] JIH
700,000& * 1CH 700
MEf2 243 ALY 105,950 105,950
201 et AH| 11,000 11,000
01 AtR2t2ibl 11,000 11,000
Oddt=24| 5,000
—(Helol ME sts=Z=2 03 29 Wi
2 W72 500,000& = 43| 2,000
—MElD=sT ) 29 W L WEF2
2! 500,000& = 43| 2,000
—MEf2 24 IS E M
2,000& * 5008 * 13 1,000
G- 6,000
—0gl0] HE stsm ) 29 LA
= 100,000 * 4 * 43| 1,600
—ME s T2 29 A
100,000 * 4Y * 63| 2,400
—OHH GHEAI W ZAF =&
100,000& * 5% * 43| 2,000
301 LEtgE A= 19,950 19,950
10 SAIAHIEAZ 19,950 19,950
OMEf2 243 /38 750
-2 BEAZ 100,000& = 3™ 300
— QLA =F EAaZ
150,000& * 33 » 1H 450
OME 2 OFLH SHE AH( KR Z AR X
20,000& * 3¥ x 320 19,200
307 @I12+0| & 40,000 40,000
04 OIZ2FSHAIE X 40,000 40,000
OMEf2 JIEAMAl K&
20,000,000& * 23| 40,000
401 Al &EHI L EL0HH] 20,000 20,000
04 Al&H| 20,000 20,000
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A D
B oI ME B EA
Co:2Es MENH o (Se:a)
A-E . (BIH) - NEAY - Ba S O At ot i HIRS 2
OXEH B20 &X
10,000,000& * 202 20,000
405 KHAHS S HI 15,000 0 15,000
01 AL EEFSHI 13,500 0 13,500
OMEst&sEH 7 2,250
— Aot 250,000& * 50 1,250
—Zc AT 500,000& = 2CH 1,000
OR&I ¢ 250,000& = 504 1,250
OME 2EY TIEH 7
100,000& * 100CH 10,000
02 =AY 1,500 0 1,500
OME 2 T AT 15,000& * 100& 1,500
EE3 = 298,200 188,770 109,430
SAEEST ALK 141,200 67,900 73,300
201 2823 | 33,000 5,000 28,000
01 ArR2t2lbl 33,000 5,000 28,000
O gH| 7,500
—YUAN2ES 2Y ERRA X
2,000,000& * 34| 6,000
—2Es ES0UM ST A
150,000& = 109 1,500
O2&| 2,000
—UAI2ES B JAS
5,000& * 4009 2,000
(@I E==1s] 2,000
—YA2ES B 1=y
200,000& = 10Y 2,000
Odxz 21,500
—HA 500,000& = 4CH = 10&l 20,000
sl 300,000& = 5 1,500
202 (44l 5,400 5,400
01 =2UWdodl 5,400 5,400
O=2WAd| 150,000& = 121 * 34 5,400
203 LR =Z&H| 2,000 0 2,000
03 AHFAHIFZAYH| 2,000 0 2,000
OHANESS 28 HRFX
200,000& = 103 2,000
301 LBtE8AZ 30,800 7,500 23,300
10 SHAIRHIBAZ 30,800 0 30,800
OREs EEUAMN &5 X3
20,000& + 109 = 103 2,000
OFANEES 229 &=l NA
40,000& * 14 x 53| 2,800
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BB EE Y
MO T ME S EA
ol e\t 2 23] Z| (98 2)
SN (BH) - MBEAY - BAS 0 Ak 2 %*l‘;f{gf; inE=Er
OHANESS ASA &sHl XA
30,000& * 20Y = 10 6,000
OSANEES| HAIZ=H| AHIEA
20,000% * 509 = 20¢ 20,000
307 BI2+0| & 70,000 50,000 20,000
02 QIZHAAMSEX 20,000 0 20,000
O AIZES A SHHES XS
1,000,000& * 103 10,000
O0I0t=0 RdER X3 10,000, 000& 10,000
04 DIZ2HHAIE X 50,000 50,000 0
OXHOIOSZL2H 2| =[H 50,000,000& 50,000
SANEST EE 157,000 157,000
201 Yet2AH| 107,000 107,000
01 AtR2t2lbl 107,000 107,000
Oddt=24| 107,000
-850 H& 3,000& = 6,0000H4 18,000
—UE B4o(lSeE 5)
10,000, 000& 10,000
—clZ% 1,000,000& * 3= 3,000
—s =9 H& 50,000& * 100JH 5,000
—SAMNESS =2 HE
2,000,000& * 5H 10,000
—gAEEE =B N
2,000& = 5,000H 10,000
—SAZ2 1= 2] HE AX
50,000 = 16000 * 2002 16,000
—HHH A& &X 70,000& * 500H 35,000
308 AXISHHSOIA 20,000 0 20,000
06 LWRIIZHUst2E2 20,000 0 20,000
OeAsAN Tz 2HA
20,000,000& 20,000
401 Al&EHI L E204H] 30,000 0 30,000
04 Al&H| 30,000 0 30,000
OSANESS 28 T8 FZAY
30,000,000 30,000
1,377,676 1,523,836 A 146,160
SEHEA 22| = 970,000
& 68,500
- 339,176
1,363,046 1,515,424 N 152,378
amsmma = 970,000
& 68,500
= 324,546
sSHA=EXNE FA 4,330 4,330 0
201 LBt AH| 4,330 4,330 0
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S A E PR
M EFLHR 2te
Chol AT B2 PRl (Se:ad)
SN M. C(B) - MIEAR - AR Aro i Hl =2
02 =2l 4,330 4,330 0
O3323 2 HMA 690
— NS XAl 30,000& * 13 30
—EZMe 2E= 30,000& * 23 60
—E&= 600,000& * 13l 600
OXt&t Byl 3,640
—NERFUH, HSHUSAH & NHEL
2 EHI 3,640,000 = 13 3,640
=EQIAAMD AEX2 L HHER 2tel 3,905 4,030 A125
201 Let2 | 3,905 4,030 A125
01 AtS2teltl 3,405 3,530 A 125
OgBr=ZH| 3,005
—AAAMDI Y 2 825
ZERelY 3,000& = 1004 300
=== (PE) 2,000& * 15004 300
H == (PP) 1,500 * 15004 225
—=dFAMD LHEH| 1,500
S X 100,000 * 10<tA 1,000
SHEH ARS (2R, ¥, HLES
) 500,000 500
—+ZQAAMND AZHAH (S22 8 &
=) 68,000& * 103 680
Otz 400
—dIMD QYAA L L HIA
200,000& * 23| 400
02 232934l 500 500 0
OA & EHIS Xl 500
—=Z23AMD YH Z2HEH |2t
]l 500,000& = 1CH 500
Q= L FIEX 22| 7,100 11,350 A4,250
201 LEr2HH| 1,700 5,950 A4,250
01 AtR2teld] 600 5,000 A4,400
Oget=&l 600
—d3tx FEA o ¥ == OXNA MEH
100,000& * 6&F Xt 600
02 ==2<Hl 1,100 950 150
O=Z2 % A 1,100
—&SE A O DRM EHE
2202 = 5,00004 1,100
202 (44l 5,400 5,400
01 =3LUHObI 5,400 5,400
O=W0o bl 150,000& = 12JH& = 3H 5,400
MHSSESH2AE 4R 600,000 1,485,714 A885,714
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R En
M sAQA 2P
CHol 4 X5 i) (SH9:8d)
SN EH.S(3) - MEAY - BAS O At ot i HIRS 2
ZNHAZRHENE S = 600,000
401 AEHIL S 600,000 1,485,714 N885,714
= 600,000
04 Al&H| 600,000 1,485,714 N885,714
OFUtH =SS M2l AlE 600,000, 000& 600,000
= 600,000
60,711 10,000 50,711
AHOY E2H 2 50,000
= 10,711
101 1A Hl 10,711 10,000 71
10 JIZHZ22NEES 10,711 10,000 711
O4ZQAZEARH BE2H 10,711
Pl E==1 29,430& * 18 » 290 8,535
—5d=22E 29,430 * 41 1,207
-4 BE= 9,742,000& * 0.0994 969
207 oI H| 50,000 0 50,000
= 50,000
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Otzegd? A 24
100,000& = 10¥ 1,000
405 KHakF SH 7,000 0 7,000
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206 M Z tl 6,000 6,000
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02 & AIEAbI 26,910 0 26,910
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5,000,000& 5,000
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202 014l 5,400 4,030 1,370
01 Z2UWodl 5,400 4,030 1,370
O=2LAHHY]| 150,000& = 12JH& * 39 5,400
301 YEt8E A= 3,000 4,000 A 1,000
12 JIEIEAS 3,000 4,000 A 1,000
OMYHDISYEED A ZTMZ 2,000, 000& 2,000
O1388 SYHAIE AlD ZTAZ
1,000,000& 1,000
307 @I12+0| & 10,000 10,000 0
05 oIZteez2 10,000 10,000 0
OHJIZ 28&ED| Meldl 10,000, 000& 10,000
C2EAX FAl22] 20,700 16,613 4,087
201 LBt Ab| 20,700 16,613 4,087
01 AtR2t2ldl 9,600 7,200 2,400
OgBt=2H| 9,600
—C2HAX B4 2L
800,000& * 12& 9,600
02 2394 11,100 9,413 1,687
O2Z222 2 HA 1,100
—S2FHAX SFINE BE2
70,000& * 23] 140
—SZ2EAX BE= 900,000& * 1CH 900
—SC2FAX KNS XA 60,000& = 1CH 60
OXtg «eH| 10,000
—E2FAX 2 & 7FFRH|
10,000, 000& 10,000
MY Dl =& 28 /A 1,020,000 920,000 100,000
307 2I2t0| A 1,020,000 920,000 100,000
05 QI2tIE= 1,020,000 920,000 100,000
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O3AI2 MYD| =& 206t 02t
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—HE=E 22 T 2
5,000& * 20004 1,000
202 04| 5,400 4,200 1,200
01 2UWHbl 5,400 4,200 1,200
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